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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations

Fifth Semester 

Commerce 

CORPORATE ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all the questions. 

1. What is Share? 

 £[S GßÓõÀ GßÚ? 

2. Write the meaning of Debenture. 

 PhÜmk £zvμ® Gß£uß ö£õ¸øÍ GÊxP. 

3. What do you mean by Profit Prior to Incorporation? 

 TmkÖÁºUPzvØS •¢øu¯ C»õ£® Gß£uß ö£õ¸Ò 
¯õx? 

4. State the methods of Purchase Consideration. 

 öPõÒ•uÀ ©Ö£¯ß PnUQk® •øÓPøÍ SÔ¨¤kP. 

5. What is Appropriation of Profits? 

 C»õ£[PøÍ JxUSuÀ GßÓõÀ GßÚ? 

6. What is Unclaimed Dividend? 

 ÷Põμ¨£hõu £[Põuõ¯® GßÓõÀ GßÚ? 
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7. Define Amalgamation. 

 JßÖ ÷\ºzuÀ Áøμ¯Ö. 

8. What is External Reconstruction? 

 ¦Ó ©Ö^μø©¨¦ GßÓõÀ GßÚ? 

9. Name the methods of valuation of Share. 

 £[SPøÍ ©v¨¤k® •øÓPøÍ ö£¯›kP. 

10. Who are Preferential Creditors?               

 •ßÝ›ø© PhÚõÍºPÒ Gß£Áº ¯õº?  

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Anand Ltd has 10,000 redeemable preference 
shares of Rs. 100 each, as part of its share capital. 
The shares became due for redemption. The 
company decided that the whole amount will be 
redeemed out of a fresh issue of equal amount of 
equity shares of Rs. 10 each. Pass journal entries in 
the books of the company.                                  

   BÚ¢z ¼ªöhm ußÝøh¯ £[S •u¼À ¹. 100 
Ãu®. 10,000 «m¦ •ßÝ›ø© £[SPøÍ 
öPõskÒÍx. A¢u £[SPÒ uØö£õÊx «m¦ 
ö\´¯¨£h ÷Ásk® AuØPõP ¹. 10 Ãu® \©E›ø© 
£[SPøÍ AuØS \©©õÚ ©v¨¤À öÁÎ±mk «m¦ 
ö\´¯¨£h ÷Ásk® GÚ A¢u {Ö©® •iÄ ö\´ux. 
A¢u {Ö© HkPÎÀ AuØPõÚ •uØSÔ¨÷£mk 
£vÄPøÍ u¸P. 

Or 

 (b) What are the methods of redemption of Debentures? 

   PhÜmk £zvμ[PøÍ «m¦ ö\´ÁvÀ EÒÍ •øÓPÒ 
¯õøÁ? 
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12. (a) ABC Ltd. took over the business of A and B as a 
going concern and agrees to pay the partners the 
following: 

  (i)  10,000 equity shares of Rs. 100 each at a 
premium of 10% 

  (ii)  5,000, 10% redeemable preference shares of 
Rs. 100 each 

  (iii) Rs. 1,00,000 in cash.  
   Calculate the Purchase Consideration.                                   
   ABC ¼ªöhm A ©ØÖ® B {ÖÁÚz Gkzx öPõsk 

AuØPõP ¤ßÁ¸©õÖ ö\¾zxÁuõP Ehß£mhx. 

   (i) ¹. 100 Ãu® 10% •øÚ©zvÀ 10,000 \© 
E›ø© £[SPÒ. 

   (ii) ¹. 100 Ãu® 5,000 10% «m¦ •ßÝ›ø© 
£[SPÒ  

   (iii) öμõUP® ¹. 1,00,000 

    öPõÒ•uÀ ©Ö£¯øÚ PnUQkP. 

Or 

 (b) Nanda Ltd. took over the business of Ram brothers 
from 1st April, 2014. It got the certificate to 
commence business from 1st February, 2015. The 
company got its certificate of incorporation on  
1st November, 2014. 

  Its sales during the first 5 months of the year were 
double that of remaining mouths. The company 
closes its books on 31st March. 

  Calculate Sales Ratio and Time Ratio.  

   |¢uõ ¼ªöhm μõ® \÷PõuμºPÒ {ÖÁÚzøu H¨μÀ 1 
2014 ÷uv°¼¸¢x GkzxU öPõshx. Ax öuõÈÀ 
öuõh[SÁuØPõÚ \õßÔuø» ¤¨μÁ› 1 2015&À 
ö£ØÓx. A¢u {Ö©® TmkÖÁõUP \õßÔuøÇ |Á®£º 
1 2014 AßÖ ö£ØÓx. Auß •uÀ 5 ©õu ÂØ£øÚ 
©ØÓ ©õu[PÎß ÂØ£øÚø¯ Põmi¾® Cμsk 
©h[PõS® A¢u {Ö©® 31 ©õºa uÚx HkPøÍ 
•izux. ÂØ£øÚ ÂQu® ©ØÖ® Põ» ÂQuzøu 
PnUQkP. 
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13. (a) The following are the ledger balances extracted 
from the books of a company. You are required to 
calculate the managerial remuneration of the 
managing director at 5% of the net profit after 
charging such commission.    

  Net Profit - Rs. 38,786 

  Items considered for calculating the above profit: 

  Provision for Tax - Rs. 30,000 

  MD Remuneration - Rs. 12,000 

  Preliminary Expenses written off - Rs. 4,000 

  Depreciation inadmissible - Rs. 2,880.                                                              

   ¤ßÁ¸® Â£μ[PÒ J¸ {Ö©zvß ÷£÷μmk 

C¸¨¦PÎ¼¸¢x ö£Ó¨£mhx. ÷©»õsø© 

C¯USÚ¸US ÁÇ[P¨£k® ÷©»õsø© Fv¯zøu 

PÈÄ PÈUP¨£mh ¤ÓS EÒÍ {Pμ C»õ£zvÀ 5% &I 

PnUQkP. 

   {Pμ C»õ£® ¹. 38,786 

   ÷©ØTÔ¯ C»õ£zvß PnUQkÁuØS 

GkzxUöPõÒÍ¨£mh CÚ[PÒ  

   Á›UPõÚ JxUS ¹. 30,000 

   ÷©»õs C¯USÚº Fv¯® ¹. 12,000 

   ÷£õUöPÊu¨£mh öuõhUP ö\»ÄPÒ ¹. 4,000 

   AÝ©vUP¨£hõu ÷u´©õÚ® ¹. 2,880. 

Or 

 (b) Explain the various items shown under the head 
'Non-Current Liabilities'. 

   |h¨¦ ö£õÖ¨¦PÒ AÀ»õu uø»¨¤ß RÌ Ch®ö£Ö® 

£À÷ÁÖ CÚ[PøÍ ÂÍUSP. 
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14. (a) Mohan Limited agrees to purchase the business of 
Murugan Limited on the following terms:   

 (i) For each of the 10,000 shares of Rs. 10 each in 
Murugan Limited 2 shares in Mohan limited 
of Rs. 10 each will be issued at an agreed 
value of Rs. 12 per share. In addition, Rs. 4 
per share cash also will be paid. 

 (ii) 8% debentures worth Rs. 80,000 will be issued 
to settle the Rs. 60,000, 9% debentures in 
Murugan Limited. 

  (iii) Rs. 10,000 will be paid toward expenses of 
winding up. 

 Calculate the Purchase Consideration. 

  ÷©õPß ¼ªöhm •¸Pß ¼ªöhmøh ¤ßÁ¸® 
{£¢uøÚPÐhß Áõ[P J¨¦UöPõshx. 

 (i) •¸Pß ¼ªöhmiÀ EÒÍ ¹. 10 Ãu® EÒÍ 
10,000 £[SPÒ JÆöÁõßÔØS® ÷©õPß 
¼ªöhm 2 £[SPÒ ¹. 10 Ãu® ¹. 12&US 
J¨¦UöPõÒÍ¨£mh Âø»US öÁÎ°mhx. 
Czxhß JÆöÁõ¸ £[QØS® ¹.4 
öμõUP©õPÄ® ÁÇ[P¨£mhx. 

 (ii) •¸Pß ¼ªöhmiÀ EÒÍ ¹. 60,000 9% 
PhÜmk £zvμ[PÐUS ÷©õPß ¼ªöhm ¹. 
80,000 ö£õ¸©õÚ•ÒÍ 8% PhÜmk¨ 
£zvμ[PøÍ öÁÎ°mhx. 

  (iii) {Ö© Pø»¨¤ØPõÚ ö\»Ä ¹. 10,000. 

   öPõÒ•uÀ ©Ö£¯ß PnUQkP.  

Or 

 (b) What are the conditions to be satisfied for the 
reduction of Capital? 

   ‰»uÚzøu SøÓ¨ø£ §ºzvö\´²® {£¢uøÚPÒ 
¯õøÁ?  
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15. (a) A firm earned net profits during the last three years 

as follows: 

       Rs.  

  1st Year         72,000 

  2nd Year                         80,000 

      3rd year                          88,000 

      The capital investment of the firm is Rs. 2,00,000. 

      A fair return on the capital, having regard to the 

risk involved is 10%. 

       Calculate the value of goodwill on the basis of  

3 years' purchase of Super Profit. 

   J¸ {ÖÁÚ® Ph¢u 3 Á¸hzvÀ Dmi¯ {Pμ C»õ£® 

¤ßÁ¸©õÖ  

            ¹. 

   •uÀ Á¸h®   72,000 

  Cμshõ® Á¸h®          80,000 

       ‰ßÓõ® Á¸h®                88,000 

   A¢u {ÖÁÚzvß ‰»uÚ •u½k ¹. 2,00,000. 

   •u¼mi¼¸¢x Chº EÒÏmh \›¯õÚ C»õ£ Ãu®  

10 %  

   ªøP C»õ£zvÀ 3 Á¸h öPõÒ•uÀ GÚUöPõsk 

|Øö£¯º ©v¨¤øÚ PnUQkP. 

Or 
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 (b) From the following particulars, compute the value 
per equity share under Net Assets method: 

                                                                                     Rs. 

  Total Assets at market value              49,80,000 

  Total Outside Liabilities                 19,00,000 

  2,00,000 Equity Shares of Rs. 10 each      20,00,000 

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x \© E›ø© £[Qß JßÔß 

©v¨ø£ {Pμ ö\õzx •øÓ°À PnUQkP. 

                                                                       ¹. 

  ö©õzu ö\õzxPÒ \¢øu ©v¨¦              49,80,000 

  ö©õzu öÁÎ¨¦Ó ö£õÖ¨¦PÒ                 19,00,000 

   2,00,000 \©E›ø© £[SPÒ ¹. 10 Ãu®      20,00,000 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Good Luck Ltd. invited applications for 10,000 shares of 
Rs. 100 each at a discount of 5% payable as follows:     

 On application         Rs. 25 

 On allotment           Rs. 34 

 On first call          Rs. 18 

 Oh second call  Rs. 18 

 Applications were received for 9,000 shares and all of 
these were accepted. All moneys were duly received 
except the first call on 300 shares and final call on 500 
shares. 

 Pass journal entries and prepare Balance of Good Luck 
Ltd. 
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Sm»U ¼ªöhm ¹. 100 Ãu® 10,000 £[SPÐUS 5% 
ÁmhzvÀ ö\¾zxÁuØS, Âsn¨£[PÐUS AøÇ¨¦ 

Âkzux. 

Âsn¨£zvÀ   ¹. 25 

JxURmiÀ   ¹. 34 

•uÀ AøÇ¨¦  ¹. 18 

Cμshõ® AøÇ¨¦ ¹. 18 

9,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mk AøÁ 

AøÚzx® HØÖU öPõÒÍ¨£mhx. •uÀ AøÇ¨¤À 300 

£[SPÐUS® Cμshõ® AøÇ¨¤À 500 £[SPøÍ²® uÂμ 

©ØÓ AøÚzvØPõÚ £n® ö£Ó¨£mhx. AuØPõÚ 

SÔ¨÷£mk £vÄPøÍ u¢x Auß C¸¨¦ {ø» SÔ¨¤øÚ 

u¯õ›UP.  

17. X Ltd. acquired the running business of Y & Co., on the 
basis of the following balance sheet: 
Liabilities Rs. Assets Rs. 

Creditors 52,000 Cash 28,000

Bills Payable 17,000 Stock 32,000

Capital 1,12,000 Debtors 46,000

Reserves 14,000 Fixtures 19,000

 Land and Buildings 45,000

 Plant and Machinery 25,000

 1,95,000  1,95,000

 Purchase consideration was agreed at Rs. 1,30,000 
payable in 10,000 shares of Rs.10 each at 10% premium 
and the balance in cash. 

 Show journal entries in the books of the company and 
also prepare company's balance sheet. 
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 X ¼ªöhm C¯[Q öPõsi¸US® Y & Co &øÁ ¤ßÁ¸® 
C¸¨¦ {ø»SÔ¨¤ß Ai¨£øh°À Áõ[Q¯x. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÚõÎPÒ 52,000 öμõUP® 28,000

ö\¾zxuØS›¯ ©õØÖa^mk 17,000 \μUQ¸¨¦ 32,000

•uÀ 1,12,000 PhÚõÎPÒ 46,000

Põ¨¦PÒ 14,000 ö£õ¸zxuÀPÒ 19,000

  {»® ©ØÖ® Pmih® 45,000

  ö£õÔ ©ØÖ® C¯¢vμ® 25,000

 1,95,000  1,95,000

 J¨¦UöPõÒÍ¨£mh öPõÒ•uÀ ©Ö£¯ß ¹. 1,30,000&I 
10,000 £[SPÒ ¹. 10 Ãu® 10% •øÚ©zvØS® «vø¯ 
öμõUP©õPÄ® ö\¾zu ÷Ási¯x. 

 SÔ¨÷£mk £vÄPøÍ u¢x Auß C¸¨¦ {ø» SÔ¨¤øÚ 
u¯õ›UPÄ®. 

18. Give a specimen form of balance sheet and statement of 
profit and loss of a company according to Company Act. 
{¾® \mhzvß£i C¸¨£ {ø»SÔ¨¦ ©ØÖ® C»õ£ |mh 
AÔUøP°ß ©õv› £iÁzvøÚ u¸P. 

19. Following is the Balance Sheet of Lotus Ltd. as on 31st  
March 2016. 
Liabilities  Rs. Assets Rs. 

Share Capital 2,50,000 Land and Buildings 3,00,000
Reserve 1,00,000 Furniture 2,00,000
Bank Loan 2,00,000 Stock 1,00,000
Creditors 1,50,000 Debtors 50,000

  Profit and Loss a/c    50,000
 7,00,000  7,00,000

 Lotus Ltd. was absorbed by Maui. Ltd. on a purchase 
consideration of Rs. 6,00,000 payable Rs. 4,00,000 in cash 
and 20,000 shares of Rs. 10 each. Liquidation expenses 
were Rs 10,000. Prepare necessary Ledger accounts in 
the books Lotus Ltd. 



A–9970 

  

  10

 31 ©õºa 2016&® Bsøh¯ ÷»õmhì ¼ªömiß 

C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£[S •uÀ 2,50,000 {»® ©ØÖ® Pmih® 3,00,000

Põ¨¦ 1,00,000 AøÓP»ß 2,00,000

Á[Q Phß 2,00,000 \μUQ¸¨¦ 1,00,000

PhÚõÍºPÒ 1,50,000 PhÚõÎPÒ 50,000

 C»õ£ |mh PnUS    50,000

 7,00,000  7,00,000

 ÷»õmhì ¼ªöhm ©o ¼ªöhmhõÀ DºUP¨£mk 

AuØPõÚ öPõÒ•uÀ ©Ö£¯ÚõP ¹. 6,00,000&I öμõUP©õP 

¹. 4,00,000 «vø¯ 20,000 £[SPÍõP ¹. 10 Ãu® 

ö\¾zu¨£h ÷Ási¯x. 

 ÷»õmhì ¼ªöhmiß HkPÎÀ ÷uøÁ¯õÚ ÷£÷μk 

PnUSPøÍ u¯õ›UPÄ®. 

20. The following particulars relate to a limited company 
which has gone into voluntary liquidation. You are 
required to prepare the liquidator's final account allowing 
for his remuneration @ 3% on the amount realized and 
2.5% on the amount paid to the unsecured creditors. 

 Share Capital issued:  

 5,000 Preference shares of Rs. 100 each fully paid 

 30,000 equity shares of Rs. 10 each fully paid 

 12,000 equity shares of Rs. 10 each, Rs 8 paid up 

 Assets realized Rs. 9,24,000 excluding amount realized by 
sale of securities held by the secured creditors. 
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 Rs. 

 Preferential creditors        24,000 

 Unsecured creditors                                               8,51,094 

 Secured creditors (security realized Rs. 1,62,000) 1,38,000 

 Debentures having a floating charge on the assets  3,00,000  

 Expenses of liquidation amounted to 9,000 

 A call of Rs. 2 per share on the partly paid equity shares 
was duly paid except in case of one shareholder owning 
1,200 shares.  

 ¤ßÁ¸® Â£μ[PÒ, J¸ Â¸¨£ Pø»¨¤ØS ö\ßÓ 
Áøμ¯ÖUP¨£mh {Ö©zvß Â£μ[PÒ ¤ßÁ¸©õÖ. 
Pø»¨£õÍ¸US Fv¯©õP öuõøP ö£ØÓvÀ  3%&®, 
¤øn¯©ØÓ PhÚõÍºPÐUS ÁÇ[SÁv¼¸¢x 2.5% 
AÝ©vzx Pø»¨£õÍº CÖv PnUQøÚ u¯õ›UPÄ®. 

 £[S •uÀ öÁÎ°h¨£mhx. 

 5,000 •ßÝ›ø© £[SPÒ ¹. 100 Ãu® •ÊÁx® 
ö\¾zu¨£mhx. 

 30,000 \©E›ø© £[SPÒ ¹. 10 Ãu® •ÊÁx® 
ö\¾zu¨£mhx. 

 12,000 \©E›ø© £[SPÒ ¹. 10 Ãu® ¹. 8 ö\¾zu¨£mhx. 

 ¤øn¯ PhÚõÍºPÎh® EÒÍ ö\õzxPÒ ÂØÖö£ØÓx 
uÂμ ©ØÓ ö\õzxPÒ ÂØÖ ö£ØÓx ¹. 9,24,000   

 ¹. 

•ßÝ›ø© PhÚõÍºPÒ 24,000

¤øn¯©ØÓ PhÚõÍºPÒ 8,51,094

¤øn¯ PhÚõÎPÒ (¤øn¯® ÂØÓx ¹. 1,62,000) 1,38,000

ö\õzxPÒ «x ªuUS® ö£õÖ¨¦ PhÜmk 3,00,000

Pø»¨¦ ö\»Ä £zvμ[PÒ  9,000

 £Sv ö\¾zu¨£mh £[S •u¼À, 1,200 £[SPÒ uÂμ ©ØÓ 
AøÚzvØPõÚ £[SPÒ £n® ö£Ó¨£mhx.  

———————— 


	com-1.pdf
	4BCO5C1.pdf


